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{ {7} The equation of the horizontal line passes through the point (5= 33 is

Al x = -3 ("'_I y =3 ) _-_--"""-..
= DAL Drees }
‘.EI‘ T_hﬂ' solution set of the |'|-|ﬁ:|”_;|_|"} I:t & 5leT is

Bi [*"-ﬁ'.-fl:lp.l;{r.vr] - '

Cil- IX\ﬁlUILJr]

oy [-6.1])

If the graph of the function £ (¥ )=+/x is shifting 1o the right 3 units and then it is shifting
upward 2 units, thus the new graph can be nrprrsunlrd by

\

-:'-':J \"r.'l' 4? —5‘\-[ {1 .J; -I-__i-+ 2

B) vy —3+2 D) Jx =3-2

(10) The function f (x )=sinx +x(1}i‘5 1
A)even " .C)odd

B) neither even nor odd

D) even and odd

. -
The center and radius of the circle x =+

.
=2y +4y =4 are

(}{J' i

A) (1,-2) and 9 U."u‘ C) (-1.2) and 3

B) (-1.2) and 9 -y 1) (1,-2) and 3)
— i

C) third quadrant
D

ourth quadram
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UG/I If a circle has radius 3 cm, what is the length of an arc subtended by a central angle of Y

-

rad ?
T 27 cm
AJ==cm O
.n-ﬂ“; l
B) mm D) ;_—r-cm
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(I)1If f(x)=x* and g(x)=+4-x . then the domain of the function f-+g is
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A) [4,.'1':} '\. CLRE
H] {__{E._‘#] ]_‘]:' {—-—"JL'-"]
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(15) tan 5
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[ (16) The dm'lﬂtt' between the two pq.'nu'[\ (4, ‘5 and ” s
m 50 Y s
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(17) The solution set of the inequality x

3 "
T—Tx +12=0 s

-, .'."}.Qj f,0)

C) {—'INU[JLM,}

D) [3.4]
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\go

) sinfx +—) =

C/

Z

V3 sinx —x0sx
o)

A)

T = 5 cosx

C)
sinx ++/3cosx

D) S

iz
(19) If sin@ = -—, where 7 < <—, then sec@ =
5

-

5 5
- C -
A) = ) 1
4 5
2t ) =
B) 3 ) 1
(20) If /(x)=vx 2 41, then the domain of [ is
A) R C) [-1.1]
B) (~=-1]U[L.) D) R-{-11}
(21) [-23]=
“A) 23 Cy=23
By -3 m =2 =
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u::l‘l I'he equation of the hine with slope & and a-iniercept =5 jy

AT T vl —5=0] . O 4+ iy 45 =1)
iHr 1 —tn =3 =} 5 5 Vv =t 43=1 "3

X~ —x =12

f (x) graphed in the next figyre is

e —

[x+2z 3sx < T I
{H—i_lz: .L"""“‘IL *!"4

l<x <3

|
{x—z; -3<x <] :

(x+1)": 1<x <3

3 - -
C) ;‘u;J J S B =
(x+1)°; l<x <3

D) r'[r'jzj T+ <3<y <l

x=1r: lex <3 T e | S
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